
9717101190
1 / 2

Hite
sh

 si
r (

97
17

10
11

90
)

Hitesh sir classes (maths)


9717101190


INTEGRATION ( CALCULUS)
Class 12 - Mathematics

1. Evaluate the Integral:∫ dx
(sin x+cos x)

sin 2x√

2. Evaluate the integral: dx∫ π/2
0

xcos2

sin x+cos x

3. Evaluate ∫ dx
1+x2√

1−x2

4. Evaluate̤ : e-xcos 2x cos 4x dx∫

5. Evaluate the integral  using substitution.( − ) dx∫
1

2
1
x

1

2x2
e2x

6. Integrate the function: 1
1−tan x

7. Evaluate: .∫ dx
( +x+1)x

2

(x+2)( +1)x2

8. Evaluate: ∫ x ⋅ xdxsin−1

9. Evaluate: .∫ dx
x

4

( +1)( +9)( +16)x2 x2 x2

10. By using the properties of definite integrals, evaluate the integral log(1 + cosx)dx∫ π

0

11. Evaluate the definite integral dx.∫ π/4
0

sin x+cos x

9+16 sin 2x

12. Integrate ∫ dx

1+3 +2ex e2x

13. Evaluate: .∫ dx
2 logx

x[2(logx −logx−3])2

14. Evaluate the integral: ∫ (2x− 5) dx2 + 3x− x2− −−−−−−−−
√

15. Integrate the function 1

( +1)( +4)x2 x2

16. Evaluate x logsinxdx∫ π

0

17. Evaluate: .∫ dx

(sin x+sin 2x)

18. Integrate the function ∫ dx

x sin(x+α)sin3√

19. Evaluate  .dx∫ π/2
0

x sin x cos x

x+ xsin4 cos4

20. Prove that: .dx = π( − 1)∫
π/4

3π/4
x

(1+sin x)
2
–

√

21. Evaluate the integral: ∫ x dx1 + x− x2
− −−−−−−−

√

22. Evaluate ∫ dx.tan x+ xtan3

1+ xtan3

23. Evaluate the integral  using substitution.∫ 2
0

dx

x+4−x2

24. Prove that: .dx = − (log2)∫
0

1
logx

1−x2√

π

2

25. Evaluate: .∫ dx

( +1)x3

26. Integrate the function 5x

(x+1)( +9)x2

27. Prove that: .xcotxdx = (log2)∫
0

π/2
π

4

28. By using the properties of definite integral, evaluate the integral (2logsinx− logsin2x)dx∫ π/2
0



9717101190
2 / 2

Hite
sh

 si
r (

97
17

10
11

90
)

29. Evaluate  (Hint: Put tan x = t2)∫ dxtanx
− −−−

√

30. Integrate the function +x+1x
2

(x+1 (x+2))2

31. Evaluate: .∫ dx
(1− )x2

x(1−2x)

32. Evaluate: .∫ dx
ex

( −3 − +3)e3x e2x ex

33. Evaluate:  cot-1 (1 - x + x2) dx.∫

34. Evaluate: .∫ dx

sin x(3+2 cos x)

35. Evaluate: ∫ dx
3+2 cos x+4 sin x

2 sin x+cos x+3

36. Prove that: .( )dx = (log2)∫
0

1
xsin−1

x

π

2

37. Evaluate: ∫ dx
1

x xsin3 cos5

38. Prove that ( + )dx = .∫ π/4
0 tanx

− −−−
√ cotx

− −−−
√ 2

–√ π

2

39. Evaluate: ∫ ( )dxe xtan−1 1+x+x
2

1+x2

40. Integrate the function [|x− 1| + |x− 2| + |x− 3|]dx∫ 4
1

41. Evaluate the integral: ∫ dx
cot x+ x∣∣ cot3 ∣∣

1+ xcot3

42. Evaluate  (Hint: Divide Numerator and Denominator by cos4 x)∫
π

2
0

dx

( x+ x)a2 cos2 b
2 sin2 2

43. Evaluate: ∫ dx
x+ x+1√

x+2

44. Integrate the (rational) function 3x−1

(x+2)2

45. Evaluate: ∫ dx
1

x xsin4 cos2

46. Evaluate dx∫ π

0
ecos x

+ecos x e− cos x

47. Evaluate: ∫ dx.1

x+ xcos4 sin4

48. Evaluate: ∫ dx
x

(x−1)( +4)x2

49. Evaluate: ∫ dx
−3xx

3

+2 −4x4 x2

50. Evaluate dx∫ π

0
x tan x

sec x⋅cosecx

51. Evaluate log(sinx+ cosx)dx∫
π

4

−
π

4

52. Evaluate: ∫ dx
(1−3x)

(3 +4x+2)x2

53. If f'(x) = a sin x + b cos x and f'(0) = 4, f(0) = 3, f  = 5, find f(x).( )π
2

54. Evaluate: ∫ dx
1

5+7 cos x+sin x

55. Evaluate: .∫ dx

x( +1)x6

56. Evaluate the definite integral 2sinxcosx (sinx)dx∫ π/2
0 tan−1

57. ∫ dxtan−1 1−x

1+x

− −−
√

58. Evaluate: .∫ dx
(5x+8)

(3x+8)x2

59. Evaluate ∫ dxx
2

− −12x4 x2

60. Evaluate: dx∫ π/2
−π/2

−π/2

cos x xsin2√


